
11 "â", ÂÉÏÌÏÇÉ, ÁÌÇÅÂÒÁ, 11 ÆÅ×ÒÁÌÑ, ÄÏÍÁÛÎÅÅ ÚÁÄÁÎÉÅ.

1) õÐÒÏÓÔÉÔÅ ×ÙÒÁÖÅÎÉÅ: sin(�+x) cos( 3�
2 −x) tg(x−�

2 )
cos(�2 +x) cos( 3�

2 +x) tg(�+x) .
2) ÷ÙÞÉÓÌÉÔÅ sin(x+ y), ÅÓÌÉ sinx = − 1

3 , cos y = − 2
3 É � < x ; y < 3�

2 .
3) õÐÒÏÓÔÉÔÅ ×ÙÒÁÖÅÎÉÅ: sin2 �

sin�−cos� − sin�−cos�
1−tg2 � − sin�.

4) ÷ÙÞÉÓÌÉÔÅ 3 cos 50◦−4 sin 140◦
cos 130◦ .

5) éÚ×ÅÓÔÎÏ, ÞÔÏ tg � = 3. þÅÍÕ ÒÁ×ÎÏ sin�−2 sin 2�+3 sin 3�
cos �−2 cos 2�+cos 3� ?

6) ÷ÙÞÉÓÌÉÔÅ sin 52◦30′ cos 7◦30′.
7) ÷ÙÞÉÓÌÉÔÅ sin 16◦ + cos 16◦ · tg 37◦.
8) éÚ×ÅÓÔÎÏ, ÞÔÏ tg 2x = − 3

4 É sin 2x > 0. îÁÊÄÉÔÅ logtg �
6

tg x.
9) ÷ÙÞÉÓÌÉÔÅ tg 9◦ − tg 63◦ + tg 81◦ − tg 27◦.


